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1. “Stedwa" ==t Frfates cmmmE s s 2

(A) Tea (B) TATmed
(C) et (D) fempend
L Erdw @b @ aE T e 2
(A) Temred (B) e
(C) forererst (D) femesd
1. “HiefE SR MEETE T a9 9 i 7
(A) 4 aWE (B) #g uwm
(C) fo wrm (D) fomg amm
L. e g fefafas e vs o g gag 2 7
(A) SHud (B) #gad
(C) o o (D) fig ol
1.  The term *Tirthankaras™ is associated with
(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism

2. TEI-*[ SIASA T G Tl IARATER TR B0 e = 7

(A) e ®) faogat
(C) T (D) Fr=ar
2. TEd-+d SIATSA v A ARFACTOE F0F 7 W e 7 2
(A) @ (B) foemt
(C) THarEE (D) far=rE
2. HI-HAH HHAM 78 TEATH FEHEN F0eATerE e
(A) wfrg (B) Fgm
(C) ¥ (D) fe=mm
2, YETE WA T 98 T 1 a0erey & =Ty H JEn TE wa e
(A) =fiTq (B) fgqm
(C) e (D) feitm
2. The State of Northeast India that does not share borders with Bangladesh, is
(A) Manipur (B) Tripura
(C) Meghalaya (Dy Mizoram

C
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3. frfafe fFew mee fooas afis =5 e

(A) TITHT (B) ==

(C) =sfEe=t (D) @
3, S U == €rE @@ FE |

(A) A0S (B) =

(C) =tsiae=t (D) fearg
3. EEE FAEE T THEEEE T |

(A) TEH (B) =T

(C) somee (D) dmmg
3. fam=rsd

(A) TR (B) =T

(C) Irmeen (D) g
3.  Find the odd one out.

(A) Gangtok (B) Imphal

(C) Agartala (D) Dimapur

4, =@ FEiear” TeaEh e o sifeEimE e FeeiEs 2

(A) fafbe (B) =4
(C) sl (D) ™ET=2
4. “FI2 TAISA SR A5 I FeE o A T
(A) Fafbe (B) =4
(C) (D) wEh
4. NG BRI A E | wf et €
(A) fafam (B) =l
(C) (D) e
o P whrareny ony wrdwrvew & w7
(&) fafsm (B)
(C) (D)
4.  Which one of the following groups, is the lestival “Lai Haraoba" associated
with ?
(A) Mishings (B) Karbis
(C) Garos (D) Meiteis

C
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Pl

TR go0h1 TEa-oF TATa @ ST Hafes ?

(A) =sEEs| (B) TG
(C) Zofrsa (D) Z%F=
5. wremvel Tun o oETea (oRim eS¢
(A) =Sl (B) SRS
(C) Eheeg (D) TE=
5. e e M-HEE AT "E e 7
(A) TEE (B) e
(C) ¥eFm (D) ==
5.  ILH WIA T HITe (e 2aq 2 -
(A) ITEend (B) e |
(C) dewmH (D) e A
5. Where in Northeast India is Kangla fort located ?
(A) Agartala (B) Gangtok
(C) Itanagar (D) Imphal
6. Fmi=fe 7z b 9w fghe = 7
(A) T 3-Gee fes FEgEe TRETS FeEn whiEe |
(B) i+ o7 Tzr= fawa wd9ze o= (a1ES1) Tesimeatal o |
(C) ZBE APl T2t bl T o Rih! Sfed SroFel [e[ATe 2 e SIqEe |
(D) =ed gz Al 29 THahe TaEs |
6. oA ol agfelh =g 7
(A) e 3-89 (delta) 9T J2@ 5@ 9023 (mangrove) 3 |
(B) T+ %fFs 9289 == (mica) T4 |
(C) 20 &9 =i Torell 41 SHT9a GFaIE [ |
(D) =HETSE TervE SaEs 926 CIFISEE 27 Y595 ShrES |
6. TmEEf "R A A= 0
(A) FreeAi q-5T 3 qEuf asrgs Ses S anm A
(B) A geit astrgs =i argen fogm #req |
(C) TR TETE 3 9T S a1 STETia S 3021 21 |
(D) wwwf F2frgs i e 2 e e 2 |
6. FaffEad asmmFg g adi 2 7

(A) YHeee e g & vad 93 e 9 Fad |

(B) =i ferva =1 wadl @11 319 315 F 291 2 |

(C) $RUHM U -9 & 2 S 9TA @ for udhred @ |

(D) WA i Had T2 SiFesig @r v i sie pm E a2

C
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Which of the following is NOT a correct statement 7

{A) Sundarbans delta is home to the larpest mangrove forest in the world.
(B) China is world's largest mica producer.

(C) Easter Island is a land area that is antipodal to India.

(D) India's largest inland salt water lake is located in Gujarat.

Taeq e wimmE we, 3B 7 T FFhe AED 906 FIeT OF AREeE T A
fearrae areTe Fioe aree e w9 E61E 517 24 #ifeE 2

(A) 4% (B) wfe
(C) (D) faf

SraTEa e St R SeeE @i arEtos v a8 v Bre e oe
=Sl I TS ATASE 7a 2 9157 208 204 7

(A) % (B) o
(C) (D) f&=

STEE T30 i) ZE=E Ty g 2

(A) =H (B) =

(C) == (D) = ey

WA F A9 AT & IFER, UF TP g & =9 1 g e w3 & o, s aeifoes
=5 T FY ¥ F1 fFae T G U g 9 Ue e g 91 ] | ?

(A) TF (By =

(C) Wi (D) =

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four
(C) Five (D) Three

e e T @ AR G - wEE @[ e Sien o e
LIECER:

(A) BT STEw (B) == srsieE foms

(C) Toftett e cofrea D) =5 B

for ST wun oft o= Sfe, mam e Tete wfter g =i s eaeg 77
(A) TEE =W (B) == seerg feme

(C) Tl 6= (D) =o= e

o
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8.  TEWEM HE T g, CIEET 3 T ORI 3 A A SeniE T ?
(A) SHIE A (B) e e faeres
(C) e TEs (D) WA foz
8. Frafafes ¥ 2 e w2 fF a5 a0 sfag afoen 2 s §em s 2
(A) =ZInE ATE (B) are T, feeren
(C) TiTet o T (D) wa fAz
B.  Who amongst the following said, “Freedom is my birth right and [ shall have
i ?
{A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak
(C) Gopal Krishna Gokhale (D) Bhagat Singh
9. @S AT AF 2 qES e e g A e ?
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9., HREA 3 2T Wi e Anfereem 1w T 4B 2l 2
(A) 1526 (B) 1536
(C) 1556 (Dy 1576
9, &9 UM A A 2R TeE qEigat 2 ) geEEm e 2
(A) 1526 B) 1536
(C) 1556 (D) 1576
9. A 1 gai eTE et s A FAE Ay Hgdefi |
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. The second battle of Panipat fought between Akbar and Hemu was in the
year
(A) 1526 (B) 1536
(C) 1556 (D) 1576
10. =99 e S s Rarers e @hoal FimeeaEs ME =haeE o
TTE “&99q bte 7= (NOTA)" faewihsl 7o Ffafez 7
(A) =sfE, 2012 (B) @ma=s, 2013
(C) =mEE, 2015 (D) =EEa, 2014
10. =EeE FRGA =i SEres [Rafrrst FEvE T4 eemaes 7o ceind Few Rema

“THTEE ez A1l (NOTA)” 2@t FEres ¢
(A) =197, 2012 (B) *=Fq, 2013
(C) w=rmEla, 2015 (D) =SrEs, 2014

o
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10. wra vEnfe fame'swE gren grai feoee samen o oeem aJm et
TEEEITET (NOTA) @ fifadafs ameam amemgEse 2
(A) 3WHE, 2012 (B) &=, 2013
(C) =Fam, 2015 (D) AT, 2014
10. 9WA & g9 AW A una 8 fageean gt § gaer fasmen § “3uiem | 8 w18 (Fe)”
wEell A1 Fa | fa 2
(A) 3PTE, 2012 (B) &w=T, 2013
(C) A&, 2015 (D) WAL, 2014
10. When did the Election Commission of India first enforce the “None Of The
Above (NOTA)" in the voting option in the assembly election in India ?
(A) August, 2012 (B) November, 2013
(C) January, 2015 (D} October, 2014
11. ‘“=EAEN MR 70 SHED &R o w6tEs ?
(A) Tifag (By = =l
(C) afas= .. (D) 2 zms
11. =reslfss 7 H6R amEe’ OF TEwes (@r 6t ¥
(A) e (B) =% (The Hague)
(C) eutf=ge fefH (D) fesms
11, eErgirsm fafsmefaf mer e snaw g ¢
(A) T (B) @@
(C) =fme (D) =T
11.  SAER =T %1 [T Fa 26 2 7
(A) e By &
(C) difeimes (D) =T
11. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York
12. AleHD FETS FEfEEE TEa Gl TR g i 2
(A) RO e s w5 (B) =t 92 “faarrs Aam@aet
(C) Tavm= =fazm =m=mm (D) Fmm =97 AaEws!
12, s Srafe G sl aeah wiEe TudE s 0
(A) Taoat = feme g == (B) =% == Tom Frmgre
(C) oot famim sramEm (D) oo = e

C
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12. TIeia ARAAE MEEA 94 @@l STHHEE SemEE 7
(A) THA BTENf FHIE AEAEE! AETEETEE (B) @i S fEgEe
(C) TammEEmTEE FEdafEamE gFE (D) TE FIEETE S AT
12, Tiere vae | frefafea § 8 o 91 wen mives a2
(A) Taesh amm wie i gaeh (B) e vETA T wfaeEy
(C) gewed & faen wmmams (D) e = g1 ufaEy
12. Which one of the following steps did the Rowlatt Act incorporate ?
(A) Forced to buy foreign goods (B) HRestriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad
13. T Twow MREAE @ e U s[Arm aizE arnee el e o e e
oWt FiaTE ?
(A) 1985, 9@, SigEe! (B) 1987, 2% T=izat
(C) 1989, T fafa (D) 1992, 3l E=rE
13. SIETEE THod AEEE T 929 992 910 2w qfEml i e st 2
(A) 1985, TE, SigTe! (B) 1987, &% JFzral
(C) 1989, wfgat &3 (D) 1992, 2wl T
13. st it fafsmnty ffa smean Femfiiee oeen fremen o9 sm fawnf gan mam 2
(A) 1985, 3N, WA (B) 1987, Sgwearal
(C) 1989, Ffam &= (D) 1992, e ===
13. WA = Har= <Eed - " a4 § 39 veef mieen =i & g @ 3w b
feram ¢
(A) 1985, AW, WHAA (B) 1987, 3¢ mearal
(C) 1989, wfawy ==l (D) 1992, =feq T=:i
13. In which vear did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?
(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee
14. T3 5S SHea S (EhifesT =irs $a[ «[=fox 9979 21 9299 *[ 18 7287 = 791 28 7
(A) 1986 (B) 1988
(C) 1990 (Dy 1992
14, TETE CEhifESE LELsE 7T T 21 9899 E0F 18 789 $41 TEes T AiE 7
(A) 1986 (B) 1988
(C) 1990 (D) 1992

o
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14. WVPAHE 9 AFEEE] 9EE1 9igE A0 STEEgT dEnE 21 FEREEE 18 STEEEy 599
HTETTE EHEE AEEA 7
(A) 1986 (B) 1988
(C) 1990 (D) 1992
14. WRA § qAeH F1 ATgwn ma w0 F1 =g A Fe ad ¥ 21 o 3 gere 18 5w
e e ¢
(A) 1986 (B) 1988
(C) 1990 (D) 1992
14, The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year
(A) 1986 (B) 1988
(C) 1990 (D) 1992
15. TFEH T e sees ArsdE FEeer [t e 2eE s
(A) 1911 (By 1913
(C) 1907 (D) 1910
15. 3% 7aTE @I 92774 SELSE ATl @EAErs! (UF MRS ZFEae sEe?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
15. =% uyEyE fEemsn el aeemainEt ssEwaiawy EeeiamE aemm 2
(A) 1911 (B) 1913
(C) 18907 (D) 1910
15. w01+ form ad wwa 6 maur 1 Feea | e =memEiE a2
(A) 1911 (B) 1913
(C) 1907 (D) 1910
15. In which yvear did the British transfer the capital of India from Caleutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
16. GRS AT S FFE FRehe ool = stewa ZEE e
(A) = FeiiEsE (B) THe Tam(EE
(C) <5+ FAaIE= (D) T8 T4 (SIEE
16. TRY 97 AEESIE SR AN 4 432 A rsea 24 faw
(A)  ~ffr itz (B) TR IEiEE
(C) =M Famsi 2 (D) =TT GoirEe

£
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16. FEgH TE=H GAE HETE AR 'H B B MRS AW gen masE fREEEi gan aeE 7

(A) T qEIER (B) EIEY FUTIETE
(C) ST JiTETS (D) =H T TTTETE
16. <[ET F IITEA e & I STEM B 3 T S T & vt 4 -
(A) UG gEPTere (B) SIS STEs
(C) EE FTmETE (D) =" =TT AR

16. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was
{A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain

17. T S IS (EEe 9 2T CsiEmm T Sy o tafem 2

(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. SE0EE TS @EITaaE Seray MEee oo 399E et 2t
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. &9 WIEYEIAE AgErE’ FE awa mEe a9 A ey e ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. ToFrmad o yma & meeit s F1 aEEE 3y 6o off 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. In which vear the title ‘Vicerov' was given to ‘Governor General of India’?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
18. Frf=tas combt AT aezm SuEe e G40 s ek 7 5 ax
(A) iy =epil (B) e it
(C) =% S=pih! (D) e =Pl
18. o Smfere e Fefauifers fum oo w0 qrorne el «fam sfie smies 2
(A) Taeim owfHm (B) e =wiE
(C) W o= (D) e TEhE
18. WEoIvE BRE AW Tivman @9 siafamsntt mef g8 feeg 2
(A) A wf (By =l wf
(C) =y i (D) =iy wIft

C
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18. @Eieg wrefmes vime frefafias e et saam = afom 2 2
(A) god s (B) e it
(C) =& g (D) =i s

18. Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (Dy Fifth Schedule
19. AFER FEM-7En 'S HaEs ?
(A)  Se= 2o (B) ffE=
(C) @ (D) fareEm
19. @282 (Pakyong) e =@afes ;
(A)  TTemm 2T (B) Fifew
(C) wF#= (D) frsRE
19. T FESLIFAE 7
(A) FEUITEE He (B) fufery
(C) Hfore (D) To=mm
19. YA BT A1 el Ba 2 7
(A) FFIT=E W (B) fafam
(C) wfimge (D) frsmm
19. Pakvong airport is located in
{A) Arunachal Pradesh (B) Sikkim
(C) Manipur (D) Mizoram
20. ZAE T | TS LNzl Sita & 215E el ere ;
(A) afEEare (B) o2
(C) =&t (D) =9
20. Zasie forredet <t TME AT 74 I @9 @ el fog stentar
(A) === aE (B) srsl
(C) = (D) =™
20, ESu i gEfngs wifEe SoEEETE T SEATE S s A v
(A) 48 TV ETEET ATl (B) W e
(C) e (D)
20. T EEH T T I A A1E0 TEE A 99 HH E
(A) e i dw (B)
(C) =i (D) =ma
20. The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow
(C) Elephant () Tiger
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21. HEEa AT 26 wefd e =g ?
(A) 4 @) 5
©) 6 D) 7
21, S e @H b 9% (rings) =M ?
(A) 4 B) 5
(C) 6 Dy 7
21, wfefey fRfEmm e g @@ € 7
(A) 4 (B)
(€) 6 D) 7
21, A @& | A Bee am & ?
(A) 4 (B) 5
€) 6 ) 7
21. How many rings are there on the Olympics flag ?
(A) 4 (B) 5
(C) 6 Dy 7
22. ST FDIE Sl 529 (20 |
(A) FrEe'E ifte (B) TefFGams
(C) Aot (D) fera
22. HTEFGE A4l 158 27 ;
(A) & I (Buenos Aires) (B) E‘-Flﬁ?tﬁ?t‘iﬂlfﬂﬂﬂtiagn}l
(C) @srel (Bogota) (D) fort (Lima)
22.  FSVEMATH TN T AT §
(A) =m 7 (B) Hfemmi
(C) =i (Dy femm
93, AT = TAGT I -
(A) =FH 5mE (By #femm
(C) = (D)
22, The capital city of Argentina 1s
(A) DBuenos Aires (B) Santiago
(C) Bogota (D) Lima

SLRC-2022/P-1VIA
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23. ¥ GAR T4 FAfFEE &' HaEs
(A) T3 (B) FEEEREE
(C) wrrsibt (D) =%s
23, «u1E G e weE 78
(A) T2 (B) St amea
(C) =Tt (D) =i
23. U Ui AR WEE SN ¢
(A) T (B) FHAETR
(C) =l (D) =i
23, vRUNEEIgEEY _ H# |
(A) wad (B) ETEETR
(C) Tl (D) #&Hi®
23. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) Jakarta (D} Bangkok
24, Frf#fee e, S%hme o e fesg = 7
(A) T@a'm-11 (B}_l%mm
(C) s o uies (D) 9%
24. TR R F=#EHIER SeMETDR s 7 7
(A) T2rEiE 11 (B) femrst
(C) WELHETE =i (D) 9%
24. TR g9 HFE 31 FEE e faeem aen 2
(A) figm 11 (@) Frmm
(C) wrEFmETR A (D) 393
24, T § 8w m e o fou sidn fmem 78 2 7
(A) @@ 11 (B) foram
(C) W HiEE (D) FFg
24. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu

C
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25, frfifetEe waze @b a8 Tane sReada A fEarm =% i famn s 2 2

(A) TSR (B) ¥t el
(C) =D (D) =t

25. oy Sl coifone sdam siare wfrs (s s <dos 2o s st = 7
(A) T (B) it 4l
(C) =0 (D) =l

25. TR == =0 ST YraH st et fufef mm e 2
(A) A= (B) =
(C) =HmEa (D) T

95. Frefafas § & fed adum o yia = ge8 S ey Sreram s 2 7
(A) e (B) e &=
(C) =2 (D) wET

25. Which of the following i1s presently considered as the highest Himalavan
peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana

26. T CTAlE g5&E A 2@fEEE famEa e sRel S T awe Gee e @

e o1=1 Tt =
(A) SR (B) ==t
(C) T=a (D) *==

26. ZAFEACEA (2AF, 9=EER) GE TFE @ CTRIES 9T Tl 5 93 TYEE T
fufere == 7
(A) SERE (B) wEsterw
(C) v==at (D) ===

26. WTNTE (Ve wemEaet wmm) [ fEf e s s 2uen S aee
2fER 2 (gea @) fogam e 2
(A) s (B) Tl
(C) wEha (D) ¥Fg

26. WP o el 5 (qF | gemarEe =5 wEm) | fes i aftre 19 e ey g
fen gan e 2 7
(A) wriieef (B) ARl
(C) T (D) g,

C
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Which mythical underground river i1s considered to have joined Ganga and
Yamuna at Triveni Sangam of Pravagraj (formerly Pravag of Allahabad) ?

(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru
27. Fufafrs mmikes =@ as5T e 7
(A) S e (B) e sid=tal
(C) =9 (D)
27. o Tmfre (el At w1e = ?
(A) Bt e (B) o o4
(C) =Rl (D) =
27. TNER FEE 0 A A T Y
(A) feeaf wmafy (B) e &
(C) A () (D) =N
27. TafafEad 8 e Fedamam 2 2
(A) e 2 (B) gw=m
(C) &t (D) =
27. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold
98, TR @ M2E Fara eoigs fefa 25 qfudtope Giar Fafeme faaaag AwfE
g ?
(A) Cifes =ts (B) =ifder=fa
(C) Torer'#fe (D) foren v =S
28. FRITIA (fossil) T3 fefe T 4RSS Sawm 2Fozm @ = =i FE am ¢
(A) FEmfemR (Palaeontology) (B) 2#%% (Archaeology)
(C) T (Geology) (1 W(Gmmurphulnm’]
28, AMTE! faen wrem GEeaE g e it  w s e a0
(A) Tl sraTersit (B) Riamersit
(C) Sfmersi (D) STEERIEAT

o
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28. S T HiA Hi AW SHEH] & AW T = 51 F=A % g | waa @ 0
(A) e fosm (B) g fersm
(C) smd o (D) Y- 3TFf s
28. Which branch of study deals with the history of life on Earth as based on
fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology
29. NS I HFEEE A Y TF 92F T4 28 7
(A) T (B) waifanm
(C) womEEE (D) ZEElhE
29, JANHF B WHE T (S TF0 9T 78 7
(A) wEfEDE (B) ai=ifabiE
(C) SFBRGE (D) =Z2rEfEnE
29, =E TESA AR TYTE! g1 ?
(A) F'Hie (B) @R
(C) Hfeafia (D) erEgrH
29, AREHEATY ZaTE F EA % e e Iuwm w5 e fEn a2 7
(A) iz (B) e
(C) wednfiey (D) wrgri
29. Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hvdrometer
30. THI-CH caers Cofene fowa feiorem 2 CReES 2l e Sigd oA s 1% Al
(A) =toE (B) w=em
(C) == (D) #Are==
30. TH1- G AT She! %] Wi S &l 7 W00 S T0A 20 (IS 707 7
(A) =16 (B) =™
(C) =™ (D) ==
30, @1 EAE EET B HEE G ST w0 A S e ?
(A) & B) fi
(C) 1 (D) f=

C
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30. E-@ F a4, T FE 91 i F e ve fem g wam Fa E s gen FAaw dgd @ 2
(A) =2 (B) =8
(C) (D) =

30. In a game of Kho Kho, how many members ol chasing team enters the field
and sit on their knees ?

(A) Eight (B) Ten
(C) Nine (D) Seven

31. ffafs iwia sReaa wwm) =w 9

(A) =g (B) @St sfe
(C) -aizfa (D) “r2agEl A
31. oy e ol smres =mm o 2
(A) Fer=ife (B) 9% ITE 7¢I
(C) oot == (D) Beram
31. TMEME TR WA S SR A ?
(A) e (B) T8 T T
(C) 3 umsfE (D)
31, Frefafes 8§ 8 = awa =1 ge faw @2 0
(A) e (B) U Hin =1 a1
(C) firefi & (D) g
31. Which of the following 1s not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard

32, TR WA SREE aed AG[ T a7

(A) TrEwE (B) =05
(C) wiEe (D) Fm
32. FESNISIE @D SRTSa Srom 5 ?
(A) T (B)y =0
(C) =™y Dy =
32, YWAH BT gHEE O Y
(A) cHew (B) 99 (Banyan tree)
(C) wIfE (D) =i\

C
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32. Tl A1 T AE W TR gH A 2 7
(A) R (B) =0T
(C) drs (D) m
32. Which is officially the National tree of India 7
(A) Deodar (B) Banyan
(C) Peepal (D) Neem
33. ‘=TS Clel AR T WiE Tz amn
(A) T (B) =@Fmhe 79
(C) W Grg (D) =5 fomfret
33. =il gt ErEiaes (Agnes Gonxha Bejaxhui) e e D e o )
(A) FEE (B) Seewel 7w
(C) == Bl (D) Feorm femafret
33. TIETEF FES S T At 3 A i 2
(A) TR (B) zw4fd T
(C) =rEm (D) ferem frafea
33. form am | v e dnies 1 s SwiE =9 8 S S 2
(A) e (B) 3mufd 71
(C) Her e (D) o Fyafea
33. Agmes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita
34. T RS AEm G s AifwE s 2
(A) @i e (B) TUH= T
(C) w=alh =Z=EE (D) &' s
34. 7% G T e Teee FEaEe 2
(A) A FwE (B) = 7903
(C) ==afh SiZarois (D) = @6
34, T IEUER arEmE FEd (Codes) @1 fegrmsn gm 2
(A) =i e (B) fgarer o
(C) HTeae Te2Ted (D) waegE

C
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34, o % o S = anfasn i o

(A) =i Shfer (B) #mare o1
(C) FFea AR (D) sAEgE
34. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird

35. TEIGe 2T “@A0S @ (NEFA) e swisis wifem | NEFA T <11 Tam ;

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. SEFIBE SRR “{I s NEFA 7 o 7 3 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. HAVTIENE A= ewnal ity NEFA R g snfan m?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. NEFA = Qi =y #7012 — 3t for smom=e wem 19t e s o 7

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?

{A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency

36. e D! Beom gre: @A w2 ?

(A) crar= (B) ==

(C) e (D) T=ifEa]
36. Fom W Bl aue: @RS S e !

(A) Fermfa (B) =

(C) T=i= (D) e
36. TEMEM 9 E GHETE S wieE 2

(A) gaTeft (B) 3F™

(C) e (D) et

o
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36. Frefafes 8 =57 @1 =ven g@ =9 4 ¥ O g e 2
(A) Teareh (B) 3
(C) e (D) el
36. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
37. gRw e (e @R 19 ghers wfem &t ¢
(A)  faimer siE (B) famirer t<ite
(C) T aE (D) Foe ==
37. TSI AL g aitsf el 4w slang wifem swEfawe
(A)  Taer s (B) famer spdie
(C) famr a2 (D) fr = 1=
37. @E HEYANE A 0 MEE GEA AEEE 2
(A) fop =g (B) fope sy
(C) fma =2 (D) oA g
37. Torm foven O qww wam it et of g fromd ond off ¢
(A) foEm = (B) firm
(C) oo ==ré (D) fovm FrEe
37. The male lead role in which movie was plaved by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
38, ‘=afe maw feerm @i e 2
(A) =E.E. T (B) .04, A
(C) =a.@, TEmEd (D) =ia.c, Afae
38. ‘Malgudi Days’ =2f6 & femafersm 2
(A) 4.6 = (B) =4, SaEem
(C) 4., TR (D) =7, “fas
38, TS = faemEEt v ferge 2
(A) 3., FFemY (B) . 30 AWM
(C) ¥V, T (D) M. 9fzA
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38. HTENTE 29 T e i
(A) 3.3, FEE (B) .30, ANEYA
(C) 3. TR (D) W&, ufzq
38. Who wrote the book ‘Malgudi Days' ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Naravan (D) R.K. Pandit
39. EFEE:
(A) wrEFr=ies @eE ahE (B) afa 5fe 5=t qiZwisama
(C) F=alaE @ FEaaEs Thsa (D) TS g
49. &=
(A) TrErsas @EE 9% (Interstellar laser weapons)
(B) AT 7B 99t (Night vision binoculors)
() mﬁwwm 74 (Crawling land mine detectors)
(D) Wj—ﬁ%ﬂ AN (Unmanned ariel vehicles)
39. B 30 A
(A) FEREER S A (B) ST 0 g
(C) SR U1+ 912 arEi (D) =Y TrEE = T
39. ZAE:
(A) Sewee o BYEn (B) mze fers el
(C) Termedi o1 mrde fezae (D) wra Tiea 74w e
39. Drones are
(A) Interstellar laser weapons (B) Night vision binoculors
(C) Crawling land mine detectors (D) Unmanned ariel vehicles
40. FErE SR 45 GFRR] Toae 45T iem ?
(A) Tarafhee v (B) FfEsam
(C) TowgEml (D) fag ===
40. Fom Srafrenm W & $ha CATERTS
(A) Tammafioe AR (B) sfFeam
(C) ouqErt (D) fagagat
40. TTEREH FIETE HE HE 3 S TemTEE 2
(A) Treass wmmm (B) =63 T
(C) T (D) iy wr5am

C
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40. Frefafes o= 19, vs weate fgeardt =0 @12

(A) Fre=das arm (B) =1
(C) T (D) g =
40. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tavebunnesa (D) Mithu Baruah

41. Frfate e arsE S oeee Je e A o 2

(A) == (B) Wfew
(C) farsEmE (D) “f*5aas
41. Fmy Swfee cotm atenfh =i 0% Atete =rE o 2
(A) TEI=me (B) ffe=
(C) farsiam (D) “fEoaa=
41. TTERER =FE TEEE SATEEE EET e ?
(A) HAPTIES (B) fafery
(C) Ty (D) HEE &
41, Tafafes § 3 =@ o= w9 F |y = ameEn 18 a2 0
(A) HAvmets (B) fafamn
(C) s (D) wfgem &me
41. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal

42, 2022 T4 FREER 92O TN e e 6iE el 2

(A) &= (B) s

(C) =r=#= (D) ==E
42, TEEE 2022 HF SAE G T (e ZETeE ?

(A) w@= (B) ==

(C) =rE=7E (D) =z
42, FHETI 2022 3179 3EuH FE freme e sme ¢

(A) =amet (B) =

(C) ™M= (D) #=mg

C
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42, FEE0 2022 § 3590 1 FF 11 Faen a
(A) F=Te (B) =
(C) &R (D) @

42, Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai

43. 2021-22 I0fA A IATHG (B W= e
(A) T2mrg fom =nfi (B) =erel e
(C) =gagal (D) <=1r=r i

43. 2021-22 I0E 5o SOEE TS0 G SE FLaram ¢
(A) e o =nfi (B) =gl e
(C) =gl (D) =i g

43. 2021-22 AEYEE I0E AEWE FEEE 0 TEEEEe
(A) Tewre fag wmi (B) 3wan Frim
(C) = a0 (D) =

43. 3Em ¥ fFET 2021-22 # F5e U9 fmm 2
(A) Fom ferem i (B) 3wt 431
(C) == (D) it g

43. Who presented the Budget for 2021-22 in Assam ?

(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu

44, Frafafe coferem 77 gmeEa 7 < 9 ?

(A) === (B) e
(C) e (D) =it

44. o Sl w17t sfem wua @i I+ wora i S TatEs ?
(A) TP (B) T=ie
(C) e (D) =R

44, "MEMEE T SUEN FLEFYT S G 2E € Y
(A) TFE (B) gafafe
(C) femt (D) =T

C
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44, Trafefaa 9 8 9 = 3¢ srE < & afef a2 w fem 2 0

(A) HFH (B) HeERTEd
(C) feh (D) e
44. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranpganadi
45. Temf=ifre yza fowae it Tame Sih et sfaf Tesim (o 7
(A) Tesfta et (B) &G e
(C) @=2aie e (D) @fEbl CofiEsiE
45. formy Scefremm won e bl Seeie (e 7
(A) fesmm conenana (B) TG Ctersia
(C) aefEaite eieisia (D) =fEfs el
45. TErEf =E g s e o e el 2
(A) o Hermfa (B) Fwelrz HerntE
(C) ==TSme Higrare (D) e HgEe
15, P § & W ot we g 3o T
(A) Tamar fremft (B) arefie fremei
(C) =rmévie frere=d (D) e froms
45. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery

46. Fmfaifrs saza fogae 2eral (UNESCO) B9 dfog owa &bt ?

(A) g T A (B) =ar=gs

(C) = mr= e (D) Iz B Sy
46. T Srafrerm o0 @i UNESCO 97 dfezmg 7m 2

(A) e T A (B) =amgh

(C) =t A (D) 1 AEE T
46. TMEEMA FEa UNESCO R wismi 39 geere g 2

(A) TIEEf S EM (B) HaHal

(C) =mmEn gf=t (D) oHE 3 3 B

C
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46. FrafafEs g 8 =9 v g fammr w= 27
(A) et ) (B) gl
(C) = afet (D) HFE g 3T
46. Which amongst the [ollowing 18 a UNESCO Heritage site ?
(A) Majuli River Island (B) Sualkuchi
(C) Kamakhya Temple (D) Manas National Park
47. sieael qBE T FafEte e e = 5w 2
(A) TIEEG (B) =i =iz
(C) +I5ite (Dy f=eite
47. s @ cEeihe siEare agm S = sEf 2
(A) THETH (B) <=
(C) weite (D) =fEsire
47. e R T =« faeen fr famesma fan 2
(A) TiEETE (B) =ifd 3
(C) == (D) =femE
47, ST e 3ae frefafea § | fam e s adiam 2 2
(A) TITEATETR (B) A0S
(C) =i (Dy Hrfmia
47. Kaziranga National Park does not touch which of the following districts ?
({A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
48, Tainrea frebad! e 71 a1af orefas @w @t afes s =afas 2
(A) femserim arel (B) ftne peoket
(C) == A (D) EE ==arE
48. Teesiem et i res 1 aref oiefare =& wafez= 2
(A) T 2P ars (B) =s(ore A
(C) = A (D) 8 R0
48, firmmrn 7 amafasma g fEgaf i e sm g wdafe 2 2
(A) Temo] wame (B) wie3 G
(C) 3mam (D) e seREE
48, Tarmrn & u fedige & mrh =i § e fTym mm 20
(A) oo warg T (B) wnies =R
(C) 315 ¥ (D) =W v 2

C
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48. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev
49. 439 fre gFaRre! i B e ¢
(A) &% (B) &F eEmEmE
(C) @F oM (D) &% =
49, TF 4aCTs gwan 2wt smEfere ¢
(A) BFTTE (B) %% C=ol T2
(C) =W (D) &% =
49, SFEITTE TEETNE A °iE 2
(A) TFAHF (B) 7% 1 =R
(C) 7% 3T (D) T 3
49. T qadt o egm i wmE # e 0
(A) A (B) 7% "RIg
(C) % #Tg (D) T A
49. Who established the Gurudwara at Dhubri ?
(A) GuruNanak (B) GuruTegh Bahadur
(C) GuruAngad (D) Guru Arjan
50. TAET @EDES SR T4 20 A TS e i ?
(A) =NEWE AFAE (B) %=t =mHIS
(C) w@F A (D) fwmi e
50. ST GEGLET 2o Sherar (7 e 2
(A) SIEWE A0S (B) Tl =inrE
(C) =8l e (D) femtate
50. smErTE AEgEt ffufe sres wegh 7 gena
(A) 15e3 Bifss (B) = 293
(C) @l wifes (D) femmE
50. srEfHAT fires 4 waef wizen wfiEsh =i o 2
(A) Imge3 e (B) &1 s
(C) A== efe (D) FEnTE
50. Who was the first female actress of Assamese Cinema ?
(A) Aidew Handique (B) Ebha Ashaw
(C) Abanti Handique (D) Vidva Rao

C
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51. A3 3T Tl (20E Q, A 27 B GEIT (@ | IFIEITS B9 o135 (2 P 7 e e P
T “[F 12 R | R TfEem Q 3070 &0 @0 T=ide ¢
(A) ™4 (By ==
(€) <= (D) Fig

51. Q%% A 7 4391& (A, (1 B 9 931 [T | B 93 & 77 P 93 F01, 99 SS@ S@ R |
R Freim Q @ 73 7ifds ?
(A) %83 (B) ==
(C) = (D) Fret

51. Q 30 A A am = faeme o i2am B [ ame feasen | B B fafa an p R Ofeera
TR HEE fHEE R | 9El R 2 Q 5 Hmre) et ?
(A) T (B) fard
(C) fororen (D) few

51. Q, A st as4 2, 91 B R swem aa 2 | B us PR ad 2, fagem veam a2 2
RIR Q& Tem@EI2a"?
(A) THL (B) == (33 )
(C) =21 (D) fam

51. Q is the only sister of A, who is the only son of B, B's wife i1s the daughter of
P, who has only one son R. How 1s R related to Q ?
(A) Father-in-law (B) Unele
(C) Son (D) Father

52. TFTTWM 7A@ <1 S(Fe Y AETEE G 7-7 IS WE T CEE o4 12-99

TS TR | 7% (S ETHR [AEE 49T 2 7= 04, (S0% Sbe ST #4F1 22-55
TS LT | ¥RHIS 508 femfrem ='qt =i ¢

(A) 19 (B) 351

(C) 33 (D) 34

SPACE FOR ROUGH WORK
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52. e (RUETE A0 Ele AR GTF 7 N 2 G 29 TR o 12 9 2
TR | T orEl SiE 20 v 7 o Sy 9w e s 22 9 w5 9 | Afabee
THID o (20 S ?
(A) 19 (B) 31
(C) 33 (D) 34

52. EIETEI IR HE |ieAE, A s aeatem 7 @ smE gHe s uiEe s saretne
12 T =1 2ume | Afe F=w maf g SengerEEen, S s amiatwe 22 B e
TR | & W HeH BT € 2
(A) 19 (B) 31
(C) 33 (D) 34

52. TEFI I U Ufan H, HFTY 9 ° T S0 TEH o T 129 T TR | I S AT e
ATTH 1§ Fee o &, o ST 7 8 229 W 9 3w & | i d T s d 7
(A) 19 (B) 31
(C) 33 (D) 34

32. Ina row of bove, Srinath 1s 7% from left and Prabin 1s 12t from right. If they
interchange their positions, Srinath becomes 220 from the left. How many
boys are there in the row ?
(A) 19 (B) 81
(C) 33 (D) 34

53. T 72 W96 =6927, 58 W BT=T8BH TH, TO@ TOM 86 =7
(A) 7689 (B) 8976
(C) 6897 (D) 6978

53. (% 72 M 96 = 6927, 58 M 87 = 7885, TF 79 MW 86 ="
(A) 7689 (B) 8976
(C) 6897 (D) 6978

53. Hf2 72806 = 6927, 58 M 87 = 7885, A& 79 M 86 =7
(A) T689 (B) 8976
(C) 6897 (Dy 6978

SPACE FOR ROUGH WORK
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53. FfE 72 96=6927, 58 M 87 ="T885, A TOM86="
(A) 7689 (B) 8976
(C) 6897 (D) 6978
53. 1f'72 M 96=6927, 58 W 87 =7885, then TOM 86 =7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
54. AT+ T TS, + G RTEIST, < W SR WF X A ofFmIEn, o

54.

18412 x4 — 54T (2R :

(A) 25 (B) 35

(C) 40 (D) 33

v ¢+ [ T =, W R, S i S /W 9aR xSl  E
18+12 x4 —5 97 qF1 2 :

(A) 25 (B) 35

(C) 40 (D) 33

. T 4t I TR, 4 A EEETE, 3 HEEETE S ) 3 T R

18+12 x4 —5 A AFmH ¢

(A) 25 (B) 35

(C) 40 (D) 33

g v w R SE, w3 meEn, W wd T wiR  F e a2, A
18+ 12 x 4 — 5 FIHH 2

(A) 25 (B) 35

(C) 40 () 33

If * +" means ‘addition’, -+ means ‘subtraction’, = means ‘multiplication’ and
‘«' means ‘division’, then the value of 18 + 12 x4 -5 1s

(A) 25 (B) 35

(C) 40 (Dy 33

SPACE FOR ROUGH WORK
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05 5 i . 67 FHE B =eE A e

(1 ]
(A) 43 (B) 47
(C) 51 D) 45
55. s wfre A== 7,11,19,31, 67
(A) 43 (B) 47
(C) 51 (D) 45
55. 7.11,19,31,_ ., 67 Wit 3= T faemt g@ Tiim |
(A) 43 (B) 47
(C) 51 (D) 45
55. F{FHT,11,19,31, 67 FATRR
(A) 43 (B) 47
(C) 51 (D) 45
55. The missing term in the sequence 7,11,19,31, . 671is
(A) 43 (B) 47
(C) 51 (D) 45
56. (TN 4F FAFFRIE 425@ AT GUEER QAR 12:30 I5[@ 10 7RG = e
2Te™ S04 | GataEe st an.fe.wte 20 ffeh S wereeEe e st | 99.fe,
SRIF AT e TRetE 30 G w=E wifEfe | ArsesrEe s Tt
ifes ;
(A) 12:50 75 (B) 12:40 T5
(C) 12:00 7 (D) 12:10 T5
56. TEHEI AFFISSE FIETRA T NG 909 12:30 9HSE 10 WD A 2t S |

EERE 99,18, 7 o 20 G =i cteee | @9, fE, Arstesn erenm e Fa wm
cUeE 30 G ordite Ciimere | FrelRsR Frenm e fe=

(A) 12:50 9ft (B) 12:40 5

(C)  12:00 9= (D) 12:10 96

SPACE FOR ROUGH WORK
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56. I G Il 30 vefE ae A 12:30 71 10 fme fon e, oo e w20 fime
fam mfafft a0 am | efe. 3 Soey F o gmEm o wemEE a0 foe TEe
WA | ey 7 yram fuaremam 5930 m gm 2
(A) 12:50 = (B) 12:40 =1
(C) 12:00 frza (D) 12:10 f=n

56. FomE, TATERR FH & fer 12:30 79 7 10 fome ved #ie § waw a2 | =S M.D. 3
20 ToFT2 Tae 32T 29 41 | HIEERT & 5HY % AN M. D, 30 e 20 | 0da | genesn
=1 Fwifia w9 o0
(A) 12:50 731 (B) 12:40 5
(C) 12:00 =4 (D) 12:10 =

86. The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The
MD was 30 min late as per time fixed for the interview. The time fixed for the
interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

57. 2, 6,18,54, ...... SEADE BB Al (2R
(A) 4370 (B) 4374
(C) 7443 (D) 7434

57. 2, 6,18, 54, ...... F¥I60S HES FHG
(A) 4370 (B) 4374
(C) 7443 (D) 7434

57. 2, 6,18, 54, ...... HIATE g 8 4 fagmsn s
(A) 4370 (B) 4374
(C) 7443 (D) 7434
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57. FIAW2, 6, 18,54, ...... FI AAIIE R ;

(A) 4370 (B) 4374
(C) 7443 (D) 7434
57. The 8t term of the sequence 2, 6, 18, 54, ...... is
(A) 4370 (B) 4374
(C) 7443 (D) 7434

58. TR 90l 7e<l, (FIE o MHISLE T 20% HF 50% TeA | 7241 1HF Feofe

m:
(A) 2:5 (B) 3:5
(C) 4:5 D) 7:5
58. CRITHRM 7e«Tl GO AT (UTF WA 20% 38 50% G | 747 72MHR WS :
(A) 2:5 (B) 3:5
() 4:5 D) 7:5

58. T A I wifed gty sEfamem 20% AW 500 G960 | @ sFfm OEAE S s
=Y 7

(A) 2:5 (B) 3:5
(©) 4:5 D 7:5
58. =1 HETT U AE0 HE § wH: 20% 30 50 faw &, 26 gEn = wua 2 -
(A) 2:5 (B) 3:5
(C) 4:5 Dy 7:5

8. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers 1s

(A) 2:5 (B)y 3:5
(C) 4:5 M) 7:5

SPACE FOR ROUGH WORK

C
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59, T 4,000 T7HwE *oaa qgf4 12% F97 o 18 WEE T (20 ;
(A) T216 (B) T720
(C) T360 (D) T 960
59. T 4,000 BIFE TR 12% AAAEE 2MA 18 T wiErs 79w 5w
(A) 216 (B)y T720
(C) Ta60 (D) T 960
59. ShETEl AW 12 T 71 T 4,000.00 71 27F 18 3@ et g2 a8 e
(A) T216 (B) 7720
(C) T360 (D) T 960
59. ¥ 4,000 9 18 9#H § 12% ufa a4 6 2 8 i awmm e 2
(A) 216 (B) ¥T720
(C) ¥a60 (D) T 960
59. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
(A) T216 (B) ¥720
(C) TA60 (D) T 960
60. TN OF WANF 893 @ T3 A SACE 193 i X | G0 FAGE 47 @ 36

60.

E T g 1 1 B ) R TR

(A) 3 (B) 25

(C) 5 (D) 33

(I GG RS 803 FEl 19 FATH FEHE 193 A0F | (72 FRIHEE 47 =@ =6
FAE TS YA

(A) 3 (B) 25

() 5 (D) 33

HE EFmTE 893 5 THeN AE 9Tenst 103 | ° u@ sFiamnE 47 1 e A
YT 5 AT 7

(A) 3 (B) 25

(C) 5 (D) 33
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60. 7@ US T H fo93 Afamifaa R I 2 M Om 103w A 2 ) S HEn w47 ®
farwifsm = 97 39 2w -
(A) 3 (B) 25
(C) 5 (D) 33

60. When a number is divided by 893 the remainder 1s 193, If the same number
is divided by 47, the remainder will be :
(A) 3 (B) 25
(C) & (D) 33

61. 120 T 939 95l GRS 45 R 4 T5s Tme | afF gaRee ToE 30 59 gl
(A) 40 fa (B) 38 firr
(C) 36 f= (D) 32 fmr

6l. G0 SR 120 T 9F =E 992 45 Fer 99 et Aear 9 zEeE |90 =@Ee 50 5
B8 BIAT AR $08 903 S5 95 4 FRIE i 5aE
(A) 40 = (B) 38 fm
(C) 36 fm (D) 32 fr

61. TH FE AE A 120 HOEHI € AW SER 3 |- 45 7 9maw € | Jfe 9 s swEe
T 30 FRETETH GTHI1, Hee1 U AERHA] @ 557 Had Hifc-1 2nie 2
(A) HF 40 (B) #mH 38
(C) =W 36 (D) =W 32

61, U DTEETE T 120 BE 2 31 9iaH 1 3 45 271 % o 2 | 3vm 30 3R o ormems °
g 2T, A uteE Wi # o e fem = 2
(A) 40 fem (B) 38 fes
(C) 36FA (D) 32fe

61. A hostel has 120 students and food supplies are for 45 days. If 30 more

students joined the hostel, then how many davs the hostel will run with the
existing food ?

(A) 40 days (B) 38 days

(C) 346 days (D) 32 days

SPACE FOR ROUGH WORK
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62. 20 &, Ftos quE w999 T (AETS SR (M@ 9E | TEEEE 9iha e 300
1 4 e | SEEielE camwTe = &4 FoE Thel ER
(A) 10 (B) 17.32f%,
(C) 8.16 . (D 13fa.
62. 20 fi5m Al @15 92 (ladder) B9 (vertical) TR 9 6 (AT F0E S1E |
T3fia i T 391 (TR A 300 | 9207 erenmEs =i @1 e Tl
(A) 10 faz (B) 17.32 fas
(C) 8.16 faz Dy 13fa:
62, T Ml 3 A 20 . FEyei S JhrEE 2 | B aE 300 = e |
ST S 3 G a2 e w4 7
(A) 10 (B) 17.32 fw,
(C) 8.16 fa, (D) 13fm.
62. U 20 Hiet e i v At San w gH 7l 2 | I8 IE F Iy 30° F1Rm w2 |
Hiel & S 1 g ae feig i S 2
(A) 10 4. (B) 17.32 4.
(C) 8.16 4. (D) 13+,
62. A 20 m long ladder 15 leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the peint the ladder touches wall is
(A) 10m (B) 17.32 m
(C) B.16m (D) 13 m
63. 951 5 1000 *IfF ES sihee 341 a5 20w 22 .5, | 5ot a4
(A) 4.5f3 By 21f.
(C) 2.8fa. (D 3.5,
63. 930 BI& 1000 F=E 22 5:f: vy whow == | siita 7P
(A) 4.5 (B) 2.1 fi
(C) 2.8 faz (D) 3.5fqz
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63. HHE "WEE @A 1000 fifema s 22 .. S gEa | @ snenh 5 EE e e
AT
(A) 4.5T9, (B) 2.1,
(C) 2.8M. (D) 3.5M.

63. U ufEn 1000 w9 1 22 f6 . 91 g 79 F wwa 2 | el A B (Radios) 2
(A) 4.5, (B) 2.1,
(C) 2.81i. (D) 3.54.

63. A wheel can cover a distance of 22 kkm in 1000 rounds. The radius of the
wheel 1s
(A) 4.5 m (B) 21 m
(C) 2.8m (D) 3.5 m

64. 10 T91% e 4 @oe famEme o FrEte S a6 SE " Awe el 25 92
T T GT TS e @iemie S0 | wEEa e Wew 9T 19 3 2 ¢ |
Tae =29 T4 e T 9 (e
(A) 55953 (B) 657E4
(C) 58 724 (D) 60 9=

64. 930 T 10 T Fres i | T TEd 43 FEE 3R M 25 R/IT WA
GFT e (R @ISWIE SLATe | TEEa MEeTm ST 9 3 99 2 iR | 9
eitel frmras 759 29
(A) 55 99F (B) 65778
(C) 58 777 (D) 60977

64. T TS S T T SR e, AT ST S S S S 25 aEE et ieE

W e | e afEd, wwih sue 35 TEem 3 15 @nEest | A
A R S a7

(A) 55 =TER (B) 65 =mHR

(C) 58 @TEm (D) 60 =TER
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64.

10 a7 91t The |, s fares 1 sEnig i T i 25 94 6 g w5 o A e e
& | gineEE, e # 3iEE 2 8 F9 A | Sana (e A a2

(A) 554 (B) 65ad

(C) 587 (D) 60ad

In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 vears (B) 65 yvears

(C) 58 years (D) 60 years

6.

65.

65.

720 rar® Fmd 4wt @<= fonEas 7' wE @IREE FEIE WhE 706 | Seeennt
1 : 1 2'307 wielw feam sard eEe afrsfs 2'a #ifee 7

(A) 60 (B) 120

(C) 180 (D) 240

720 = it et = ih HE (e @9 EE AT 2 71 5 | (@A € (S T 1
1 Z0S (7 WS Fou M ©6 70s 7@ ?

(A) 60 (B) 120

(C) 180 (D) 240

T 720 WREETTE T8 FHEEAE 2EE 3wt st sqan 3 =
T:5 | FAURA 1 : 1 FHTeen, HTeH w7

(A) 60 (B) 120

(C) 180 (D) 240

720 BT U TFel § A5 3N TSRl il §E F SFMAT : 52 | 3F9E 1: 1 - F
(A) 60 (B) 120

(C) 180 (D) 240

The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratin 1 :1 7

(A) 60 (B) 120
(C) 180 (D) 240
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66.

66.

66.

66.

66.

67.

=T 1 Tt = 50 #Z5 g gut 2 ¢ 3 weEres 95 2 35 A e | T 50 @A

TEfq AL T ;

(A) 20 (B) 25

() 30 (D) 35

=1 1 Bl @ag 50 R T8 2 : 3 AT 35 Bl wE) TETE | 50 “HAm TuE A 2
(A) 20 (B) 25

(C) 80 (D) 35

YTEH W 50 FETEET 2 : 3 5 91EE W@ 301 T 35 T EEyH1 | 50 FEms sm i e 7
(A) 20 (B)y 25

(C) 30 (D) 35

T A 1w & et 3 50 U9 F faeni 2 3% Fua § T 35 gufea fen | 50 @ &
fasr 1 mEn 2

(A) 20 (B) 25

() 30 D) 35

Shyam stored ¥ 35 in the form of 1 rupee coin and 50 paise coins in the ratio

2 : 3. The number of 50 paise coins are :
(A) 20 (B) 25
(C) 30 (D) 35

2w #1262 b1 iR @ 9F T 9 A Fefre aee it | Tabe
Tax %43 & F41 e 70 ;

Tax

HR
450
i
IhrrrlHT-ﬂll!tUI' : Training
21 {,‘ 15660

“r
i
e - Fo
Travel q‘j% fgl

Cutsourcing 400

Fig. : Expenditure (in Lakhs)
(A) 90° (B) 45°
(C) 72° D) 81°
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67. o Srafire g oo o= efovire arevfes am o ev<e =@ | 999 gar% =k
TEEE T FEE A

=4
450 EICE L
ahi
At
200 ”ﬁmﬁ
e
af foel SN &
o 100 0
1 : == (7)
(A) 80° (By 45°
(C) 72° (D) 81°

67. g T S HAE FRAEE GrER @) TR e | @ (Tax) S e
T AT WA A 7

T
ok HR
UK
Infrastructur Training
Lr ]
HHI “} 150

oy
. Travel \ 25 %
Outsourcing ';E:T i

2

| : T (A A7)
(A) 90° (B) 45°
(C) 720 (D) 81°
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67. i = faredt few o ad % foo ot Sl % =g = famo femmmn 2 | 90 (Tax) @2 2@

Tux
150 HR
Sl
Infrastructur Training
0 & 150
4
: ol
Outsourcing TT{I]:; . “dp
Fig.: =4 (Mg §)
(A) 90° (B) 45°
(C) 72° (Dy 81°

67. The pie chart shows the expenditure breakup of a company lor a given vear.
The angle subtended by the Tax segment is

Tax
150 HR
LN
Infrastructur Training
F o 150
""ff‘f.t.
) e i f:’l."" ¥
Outsourcing T';TJ'::'I <y ey,

Fig, : Expenditure (in Lakhs)
(A) 90° (B) 45°
(C) 72° (D) 81°
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68. Toaa ===l weEnIE Free 9 Seae ekt et =1

> | ¥ = >
[ > 3 I '}
i b I L
—_ —
(A — (B —
— —
— —
C)y | — D) | ——
—_— E—
68. Tew g fordioe = fow o = =t
x| 3 S >
B > & ?
» £ > b,
R —
(A) —_— (B) | —
b— F —
— 9
C) | — (13 [++—
— —
68. @rETi EIiE e EEmEE & gEmi @ e ¢
s | > B >
b= > i ?
= = - ¥
—_— —_—
(A) | —— B | ——
— «—
. — 3
(C)y | — (D) | «—
—_— —_—
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68. ITRfA *Een I T & foru I sl o = =

> | > [ >
b > 3 & ?
> £ » }

(A) | — B) | »—
— 4—
— —_

c) | —= Dy | «=—
— — g

68. BSelect the appropriate figure to continue the figure series.

s | 3 b >

b > I ?
- £ - *

(A) —> (B) —
— a—
G _—

) | —e B | ———
—_— ——]

69. =TS fow (2) 1ie [ 7rR= afza =ifeE 2

14
232
34
41
R i
(A) 14 (B) 55
(C) 15 (D) 45

SPACE FOR ROUGH WORK
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69. e forze () = cte FHemfh wmm 2

[ 14
22 |
[ a4
11 |
53 ?
(A) 14 (B)y 55
(©) 15 (D) 45
69. Hie famaht a3 sefar g arie 2
|' 14
22 |
34
41
53 ?
(A) 14 (B) 55
(C) 15 (D) 45
69. wEaTT % (7) % w1 9 e H e e snfee 2
14
29 |
34
41
53 ?
(A) 14 (B) 55
(C) 15 (D) 45
SPACE FOR ROUGH WORK
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69. What number should replace the question mark (7) 7

14
22
34
41
53 }
(A) 14 (B) a5
(C) 15 (Dy 45

70. BROTHER, HUSBAND, MEN
% (23} TR WEE 7 Es aefvesia efeis =41 ekt foare =4 |

© | QD D)

70. T orew =ftarEE 0wt e o Tt TR sEem afetiy ==
%ﬁ-ﬂ_ﬂm:

=3, A, T

o |@D o

SPACE FOR ROUGH WORK
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70. TTERETE BFE GTEIERE e 9HE SHERE @3 HEs STEih SR SEmi i 2

o | @D o

70, TH WE F TEEE L H] 20 T G & = a9y w5 gEy = ghaiee s e
i, ufd, 75y

o |@D 1

70. ldentify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

o |@D » (09

)

SPACE FOR ROUGH WORK
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Q. 7T1-80 : Read the passage carefullv and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for
it was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relaved messages; electrons
moved into position. Observers stood with coloured [ilm over their eves and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero
hour a green flare warned the spectators to keep down. Then came the
blinding [lash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful swrging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

ol the earth.

=1
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71. Zero Hill was located in
(A) Desert region of Almogordo
(B) Desert region of Los Alamos
(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

T2, Hover means
{A) Toremain in the air at one place (B) To move to and fro

() Tocirele around (D) To move up and down

73. The bomb exploded
(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst
(C) without ereating much physical disturbances

(D) ereating a lot of physical and mental disturbances

74. Electronic impulses
(A) were not effective (B) relaved messages

(C) warned the spectators (D) greeted the spectators

75. The spectators included
{A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.
(C) scientists, a strong security force and foothallers.

(D) scientists, technicians and a strong security force.

SLRC-2022/P-IVIA 51 % P.T.0.



76. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon
{C) both Oppenheimer and McKibbon (D) Government officials

77. ltisimplied in the passage that the spectators were told to
(A) lie down {lat, face and eves directed towards the ground and with the
head away from zero.
(B) cover their eves with coloured films and keep their head averted.
(C) lie down flat, face and eves directed towards the ground and with the
head towards zero.

(D) cover their heads with coloured films and eyes closed.

78. B-29 superfortresses and Sherman tanks are used to

(A) check the effect of the bomb on the ground and air respectivelv.
(B) check effect of radiation on the ground and air respectively.

(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.

79. The beauty of the mushroom cloud 1s ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroved the steel tower.
(D) Clouds are not devastating.
80. A synonym and antonym for the word Scorching would be
{A) Searing, Scothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating

SLRC-2022/P-IVIA 52 %ﬁ



81. 420 x 45 ++/0.04 ++/0.64 3 7+ (2T ;

(A) 26 (By 31

(C) a6 (D) 41
81. /20 x 45 +1/0.04 +/0.64 97 T

(A) 26 (B) 31

(C) 36 (D) 41
81. /20 x 45 -+4/0.04 ++/0.64 1 99 3 5WE™

(A) 26 (By 31

(C) a6 (D) 41
81. /20 x 45 -+4/0.04 ++/0.64 FHHR :

(A) 26 (B) 31

(C) a6 (D) 41
81. The value of \/20 x 45 +1/0.04 + '\jm is

(A) 26 (B) 31

(C) 36 (D) 41
2. iieg Wy ot e A

1 2

(A) 3 (B) 3

(© ~3 o -3
R et =2 S

(A) l; (B) %

1 2
(C) —3 (D) -3

SLRC-2022/P-1VIA
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X2 dx+5dy 6x+4dy
e . e
8. 'E[fﬂy Hmﬂx—ﬁy Gr—y
1 2
(A) 3 (B) 3
1 2
(C) -3 D -3
x 2 .3x+5y Bx+4y .
82, WF_B’Fﬁﬁr—53’+ EI_FW%.
1 2
(A) 3 (B) 3
1 2
(C) -3 D) -3
x 2 dx+ by 6Gx+4y,
82. lf';:g, then 3__{_51\;+ e is equal to
1 2
(A) 3 (B) 9
1 2
© -3 @ 73

83. T TR =150 T FRATE @HT= 190 2, (O0F THEsE 7+ HANhI 29 :

(A) 40 (By 19
(C) 38 (D) 36
83, I T+ TFfas we=iig @isres 190 2, ©La SIMa W0 FEes Wi 79
(A) 40 (B)y 19
(C) 38 (D) 36

83. HFET FY (SR @) sEiae e gy 190, 9EnE aeE 93y g
FATAgE Y 7
(A) 40 (B) 19
(C) 38 (Dy 36

SPACE FOR ROUGH WORK
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83. Ffeut= FHIE @ F A0 190 2, 71 399 1 599 B 5= 2
(A) 40 (B) 19
(C) 38 (Dy 36

83. If the sum of five consecutive numbers is 190, then the lowest number

amongst them is
(A) 40 (B) 19
(C) a8 (D) 36

84. Bt ={<fas] eIt ST 2450 T <[@F a7 AN AFTow TR 2E -

(A) 2 (B) 3
(C) 4 (D) 5
84. TSN I AE BRI 2450 (F 81 FACE o A0 Toe 2eu U Gilb == ¢
(A) 2 @) 3
(C) 4 (Dy 5
84. HT AT 2450 N AT 451 377G &1 G 7
A 2 (B) 3
() 4 D) 5
84. U HEH DI He TAE 2450 U i 29w F el e G s e, a2 2
(A) 2 (B) 3
(C) 4 D)y 5
84. The least number by which 2450 must be multiplied to make it a perfect
square, 18
A) 2 (B) 3
(C) 4 (D) 5
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85.

85.

% e T 20% e 3 =, (O GhR A 49 OTE AifEE 29E o e
=feel Z wfea #fera 7

(A) 13%% (B) 1+§ﬂfn
" 2o -
(C) 153% (D) 155@“

% fofem 310 20% ffe = =@ ~ifsafes Bfm aem o =k 9re 2@ oie @5
Feifeafes i ?

(&) 133% (B) 143%
C Eg'!r' [§) E‘_? i
( } 1 ;:ll 40 ( j 1 3 ]

S Fafifa a8 200 1 F1eE1 T TE 3 40 wEE G U e a9 S G
EHREETTH ?

(A) 15% B 145%
(©) 155% D) 163%

afe =i it Fma 1§ 200 F Ifg 2R 2, 7 v ofEn @ F Iim § fFE afem 6
i T 1R A1 52 gHE 18 7

(A) 133% B) 145%
i 3
(€) 155% D) 165%

If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the

same 7

2 9
(A) 135 % (B) 143 %
(€) 155% D) 165 %
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86. p, q, r I (RO TAAE p 9F q IFAAG. q TF qAF r IAF.8 r 2 | p, g
O r 99,79, (TR :
(A) q (B) r
(C) aqr (DY pgr

86. p, q, r 97 foalD AN AMS p 8 q EFAANG, q, R qEr FAAAL. r I p, g Sr 97
.ALE. 29
(A) q (B) r
(C) qr (D) pgr

86. p,q, r 31 HRYY vigie A9 s p :mﬁqf:r"g,an,m, 7 FE q, q W A g HATHL
A+ | p, q 3 ¢ 230890 ARz 7
(A) g (B) r
(C) qr (D) pgr

86. p, q, r #F HEU W UFH 2 F p ﬂqﬁﬁﬂﬂ'ﬁmﬁﬂf (LCM) q 2 30 q 741 r 1
Y FUEA ¢ # | p, q 3 ¢ F ALAH TETEE 207
(A) g (B) r
(C) qr (D) pagr

86. p, q, r are three numbers such that the LCM of p and q is g and the LCM of
g and risr. The LCM of p, q and » will be
(A) q (B) r
(C) qr (DY pgr

87. 20 fi. /o= qu sfemsre ofs @2 100 fibR Trafe 9= E=arEl 1 ffa, Trafa g

WEE A4 TETE @FSIE e e e T
(A) 45 e (B) 50 L%
(C) 55 % (D) 60 TS
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87. 100 fism Tafs «=f6 @=elrdt 2fe orce 20 bR wfew st 1 i Tefr org
Howd w97 | @ESing o1y So@a Fans 7 Al -
(A) 45 TToY (B) 50 7e
(C) 55 TILo% (D) 60 e
87. 100 oy =raemsty @ 3 a0 1 & f. ereueh e 20 @8, vem mafis | gemet
AT 2 30 &6 7Y @@ 0
(A) 458 (B) 50%
(C) 559 (D) 60H
87. U 100 Hi= w41 ¢4 20 O./AFE F vFEEE T 9 = 22 1 FoL 59 F e wm
FAl 2 | e 1 U0 F foro 2 g fern e A 2
(A) 45 HFE (B) 50 8%
(C) 55 H+E (D) 60HH2
87. A 100 metre long train moving in a uniform speed of 20 m/sec crosses a
bridge of length 1 km. The time taken by the train to cross the bridge is
{A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
88. 0.037 IS FAUGI (2E
B e (B) e
© 100 ® 005
88. 0.037 T S FerEias w9
B) e ®B) o=
© & D) T

SPACE FOR ROUGH WORK

C
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88. 0.0737 F FrEEErE vE e
37 37
(A Jap (B) 599
w 37
(© oo D 1900
88. U= U= % =Y 0.037 F1 = 2
. an 37
(A) Bgp (B) 599
S 37
(€)' Joo (D) Jooo
88. The conversion of 0.0537 in the fractional form is
37 37
[1"1} ga() [B} gog
-1 37
(©) o0 D) 500
89. —76 F 374 39°% T4 22 SIS 50
(A) -1 (By 1
(C) 2 (D) -2
89. —76 (T 3 97 991 % TR0 S ¢
(A) -1 (B) 1
(C) 2 Dy -2
89. —76 T 3 1 THTEA ST ST AT
(A) -1 (B) 1
(C) 2 Dy -2
SPACE FOR ROUGH WORK
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89. —76 =1 3 8 fawre w0y s 2
(A) -1 (B) 1
(€ 2 D) -2
89. The remainder when —76 is divided by 3, is
(A) -1 (B) 1
(C) 2 Dy -2
90. B TTEEA EITEZ 1: 3 : 4 : T SANTS AME | TG =AF T FE AR 2
(A) 120° (B) 140°
(C) 144° (D) 145°
90. O3 FELTA FINEFA AR 1: 3 41 T | 928 IR TEGH @ 203 A1 ;
(A) 120° (B) 140°
(C) 144° (D) 145°
90. THE FATERE TR S MAEE 1 ;3 42 7 | SfEaw 3 gafem wni wem
A1 S
(A) 120° (B) 140°
(C) 144° (D) 145°
90, U ST & FI0 F IATA 1 34 72| wEY a2 300 HGH D F0 F 49 H1 35902
(A) 1200 (B) 140°
(C) 144° (D) 145°
90. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference

between the largest and the smallest angle is
(A) 120° (By 140°
(C)  144° (D) 145°

SPACE FOR ROUGH WORK

C
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Q. 91 to Q. 94 : Insert the correct options in the blank spaces :

91. The tenants were asked to throw all recyelable trash into

(A) the green big plastic bag
(B) the big plastic preen bag
(C) the big green plastic bag

(D) the green plastic big bag

92. The process uses an innovative digital technology

many colours as the image contains.

{A) that imprints it

(C) that it imprints

(B) that imprints

(D) that imprints on

the products with as

93. | quoted it from .

(A) Mind (B) Heart
(C) Soul (D) Imagination
94. The company because of the prolonged strikes and lockouts.

(A) went into black

(C) went into vellow

(B) went into green

(D} went into red

Q. 95 - Q.96 : Choose the correct pair of words which are SYNONYMS of each

other.

95. (A) Regent— Substitute

(C) Ancestry — Posterity

(B) Monotony — Variety

(D) Precept — Example
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96. (A) Vacillate — Waver (B) Oseillate — Stand

(C) Undulate — Flow (D) Spiral — Drip

97. (Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy— Indolent (By Ghde — Dnift

(C) Entire — Total (D) Obligatory — Voluntary

98. (Choose the option which will best replace the underlined words in the

sentence to make it correct ;

*She done it to guick so it came out looking rough.”

(A) done it too quickly (B) did it too quick

(C)  did it too quickly (D) did it to quickly

99. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost (B) To die

(C) To be possessed by the devil (D) To worship the devil

100. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

{C) overlapping tasks (D) two different tasks
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